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1NT Opener's rebids after Responder's 2NT bid

1NT Opener's rebids after Responder's 2NT bid

Responder who bids 2NT :

is inviting you to play 3NT : he has exactly 8HCP
If you are maximum in your bid (16-17HCP) accept his invitation to play 3NT
If you are minimum in your opening bid : pass
 You know that your P doesn't have 4 cards in any major, nor 6 or more cards in a minor to play
Game... he would have bid accordingly.
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Problem 5394  3NT Opener is maximum in his bid and accepts the invitation to play Game.
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Problem 5395  Pass  Opener is minimum in his bid and doesn't accept his P's invitation to play Game.
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